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QUESTION 1

StockTeller is a Java-based application designed to retrieve the current market for a portfolio of publicly listed stocks.
You have been tasked to design a bolt on module for StockTeller called EBroker, a Java E- based online application
that needs to asynchronously communicate with StockTeller to retrieve market prices for securities in a secure manner.
Which web service technology would you choose to integrate StockTeller into the EBroker application?

A. JAX-WS using HTTP

B. JAX-WS using HTTPS

C. JAX-RPC using HTTP

D. JAX-RS using HTTPS

Correct Answer: B

QUESTION 2

Which is an objective of the Strategy pattern?

A. To provide a way to configure a class with one of many behaviors

B. To define an object that encapsulates how a set of objects interacts

C. To define the skeleton of an algorithm, deferring some steps to subclasses

D. To decouple an abstraction horn its implementation so that the two can vary independently

E. To define a family of algorithms, encapsulate each one, and make them interchangeable

F. To allow subclasses to redefine certain steps of an algorithm without changing the algorithm\\'s structure

Correct Answer: A

QUESTION 3

What are two consequences of using the Composite View pattern?
A. Improves performance

B. Avoids duplicate content

C. Forces a whole-part dependency

D. Allows tables to be reused in multiple locations

E. Restricts all sub views to have a consistent view technology

Correct Answer: BD
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QUESTION 4

A company has been soiling a desktop based billing application that has Character User Interface (CUI) application
developed by using Java. The company would like to release the next version of this application with the following
features: a GUI with a pluggable look- and-feel capability and the flexibility to support multiple database vendors.
Which two technologies would you use in the new version?

A. Swing

B. JDBC

C.JPA

D. CMP

E. AWT

Correct Answer:. AB

QUESTION 5

Your company has been using the ACME database vendor for many years. Recently, it started considering a migration
to the XYZ database vendor, who uses different SQL dialed. The SQL engines in ACME and XYZ have significant
differences in performance when executing the same SQL queries?

Which is the best persistence technology for database migration?

A. JPA

B. JDBC

C. CMP entity bean

D. JDBC row set XML serialization

Correct Answer: A
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